**Utilities & Environmental Services** 

3400 Sunrise Road

Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: JLR/DLH

R S. S.

DATE: 10/23/2019

# BID TABULATION (SHEET 1 of 7) TOTALS SUMMARY

CONTRACT: Oak Bluff & Greenfield Drainage Improvements	Smith Contracting Co.	Patin Construction, LLC	Austin Engineering, Co., Inc.	Austin Underground, Inc.	Cash Construction Co., Inc.	Santa Clara Construction	DeNucci Construction, LLC	Liberty Civil Construction	Aaron Concrete, LP
BASE BID	\$1,499,194.25	\$1,649,322.50	\$1,774,344.50	\$1,797,973.50	\$1,810,626.00	\$1,942,818.50	\$1,992,310.00	\$2,230,589.50	\$2,420,775.00
ALTERNATE BID NO.1:	\$1,209,450.25	\$1,295,622.50	\$1,593,644.50	\$1,485,893.50	\$1,522,679.00	\$1,702,768.50	\$1,847,750.00	\$2,138,539.50	\$2,169,740.00
ADD ALTERNATE NO. 1 BID:	\$560,562.00	\$746,160.00	\$442,721.05	\$622,744.00	\$561,830.00	\$699,030.00	\$619,998.00	\$669,389.00	\$724,848.00
BASE BID PLUS ADD ALT. NO.1:	\$2,059,756.25	\$2,395,482.50	\$2,238,929.50	\$2,420,717.50	\$2,372,456.00	\$2,641,848.50	\$2,612,308.00	\$2,899,978.50	\$3,145,623.00
ALT. BID NO. 1 PLUS ADD ALT. NO.1:	\$1,770,012.25	\$2,041,782.50	\$2,058,229.50	\$2,108,637.50	\$2,084,509.00	\$2,401,798.50	\$2,467,748.00	\$2,807,928.50	\$2,894,588.00

Note: Cross-hatching of a total indicates adjustment upon tabulation; see following detail sheets for explanation.

#### **Utilities & Environmental Services**

## **BID TABULATION (Sheet 2 of 7) DETAILS**

Round Rock, Texas 78665

3400 Sunrise Road

BY: JLR/DLH

DATE: 10/23/2019

EX 1.5.H.

BIDS EXTENDED AND CHECKED

CONTRACT: Oak Bluff & Greenfield Drainage Improvements	Patin Construction, LLC	Austin Engineering Co., Inc.	Austin Underground, Inc.	Cash Construction Co., Inc.
LOCATION: 3400 Sunrise Road	Addendum? Yes	Addendum? Yes	Addendum? Yes	Addendum? Yes
DATE: 10/22/2019	Bid Bond? Yes	Bid Bond? Yes	Bid Bond? Yes	Bid Bond? Yes
	Exhibit B? Yes	Exhibit B? Yes	Exhibit B? Yes	Exhibit B? Yes
	Stmt. of Safety Exp.? Yes	Stmt. of Safety Exp.? Yes	Stmt. of Safety Exp.? Yes	Stmt. of Safety Exp.? No

Box Culverts - Rem 559					Exhibit B: Yes		Exhibit B: Yes		Exhibit b: Ye	:5	Exhibit b: Ye	3
TIEM   TIEM DESCRIPTION   APPROX   UNIT   PRICE   COST   PRICE   COST   PRICE   COST					Stmt. of Safety I	Exp.? Yes	Stmt. of Safety	Exp.? Yes	Stmt. of Safet	y Exp.? Yes	Stmt. of Safety	y Exp.? No
Tread Description   Otto								BAS	E BID			
Structural Excavation - Item 401   900   CY   \$55.00   \$22,500.00   \$120.00   \$180,800.00   \$30.00   \$27,200.00   \$57.00   \$67,500.00   \$30.00   \$30.00   \$37,200.00   \$57.00   \$67,500.00   \$30.00   \$												
Box Culverts - Rem 559	ITEM#											
3   Wingwall PW-1 MOD - Item 414   14.5   CY   \$2,000.00   \$35,000.00   \$1,050.00   \$51,052.00   \$33,000.00   \$33,000.00   \$343,000.00   \$50,000.00   \$51,050.00   \$37,180.00   \$595.00   \$522,100.00   \$880.00   \$522,055.00   \$60,000	1											\$67,500.00
4   Wingwall PW-1 - Item 414   33.8   CY   \$2,000.00   \$57,600.00   \$51,100.00   \$593,00   \$592,00   \$582,100   \$592,00	2				\$800.00	\$72,800.00	\$1,200.00	\$109,200.00	\$800.00	\$72,800.00		\$84,630.00
5         Channel Excavation - Item 120         10025         CY         \$20,00         \$200,500,00         \$310,075,00         \$41,00         \$411,025,00         \$22,00         \$220,550,00           6         Class IV RCP, 72" Dia, - Item 510         437         LF         \$800,00         \$535,000,00         \$555,000,00         \$550,000         \$535,000,00         \$5355,000,00         \$5355,000,00         \$535,000,00         \$545,0	3		14.5	CY	\$2,000.00	\$29,000.00	\$1,050.00	\$15,225.00	\$3,000.00	\$43,500.00	\$900.00	\$13,050.00
Class IV RCP, 72" Dia Item 510   548   LF   \$800.00   \$438,400.00   \$650.00   \$356,200.00   \$640.00   \$350,720.00   \$950.00   \$520,600.00	4			CY	\$2,000.00	\$67,600.00	\$1,100.00	\$37,180.00	\$950.00	\$32,110.00	\$880.00	\$29,744.00
Class III RCP, 72" Dia Item 510	5			CY	\$20.00	\$200,500.00	\$31.00	\$310,775.00	\$41.00	\$411,025.00	\$22.00	\$220,550.00
Section   Part	6		548	LF	\$800.00	\$438,400.00	\$650.00	\$356,200.00	\$640.00	\$350,720.00	\$950.00	\$520,600.00
9 72" Aluminized Pipe - Item 510 122 LF \$285.00 \$34,770.00 \$250.00 \$30,500.00 \$280.00 \$34,160.00 \$448.00 \$54,656.00 \$10.00 Flee Base 30" Thickness - Item 210 60 CY \$100.00 \$5,000.00 \$180.00 \$180.00 \$57,200.00 \$150.00 \$59,000.00 \$10.00 \$7,200.00 \$150.00 \$59,000.00 \$10.	7	Class III RCP, 72" Dia Item 510	437	LF	\$550.00	\$240,350.00	\$500.00	\$218,500.00	\$430.00	\$187,910.00	\$811.00	\$354,407.00
Flex Base 30" Thickness - Item 210	8	Junction Box - Item 506		EA	\$65,000.00	\$130,000.00	\$90,000.00	\$180,000.00	\$55,000.00	\$110,000.00	\$80,000.00	\$160,000.00
Hot Mix Asphaltic Conc - Item 340	9		122	LF	\$285.00	\$34,770.00	\$250.00	\$30,500.00	\$280.00	\$34,160.00	\$448.00	\$54,656.00
Safety Fencing - Item 703   2300   LF   \$4.20   \$9,660.00   \$3.00   \$6,900.00   \$4.50   \$10,350.00   \$2.00   \$4,600.00	10	Flex Base 30" Thickness - Item 210	60	CY	\$100.00	\$6,000.00	\$300.00	\$18,000.00	\$120.00	\$7,200.00	\$150.00	\$9,000.00
13	11	Hot Mix Asphaltic Conc - Item 340	70	SY	\$150.00	\$10,500.00	\$140.00	\$9,800.00	\$66.00	\$4,620.00	\$95.00	\$6,650.00
14   Wire Fence - Item 701   1400   LF   \$8.40   \$11,760.00   \$8.00   \$11,200.00   \$7.50   \$10,500.00   \$6.50   \$9,100.00   \$15   Wood Fence - Item 701   260   LF   \$41,30   \$10,738.00   \$35,00   \$9,100.00   \$29.00   \$7,540.00   \$30.00   \$7,800.00   \$10,000.00	. 12	Safety Fencing - Item 703	2300	LF	\$4.20	\$9,660.00	\$3.00	\$6,900.00	\$4.50	\$10,350.00	\$2.00	\$4,600.00
15   Wood Fence - Item 701   260   LF   \$41.30   \$10,738.00   \$35.00   \$9,100.00   \$29.00   \$7,540.00   \$30.00   \$7,800.00   \$1	13	Protective Fencing - Item 610	180	LF	\$6.65	\$1,197.00	\$3.50	\$630.00	\$22.00	\$3,960.00	\$3.00	\$540.00
16	14	Wire Fence - Item 701	1400	LF	\$8.40	\$11,760.00	\$8.00	\$11,200.00	\$7.50	\$10,500.00	\$6.50	\$9,100.00
17         Dry Riprap - Item 591         860         SY         \$50.00         \$43,000.00         \$70.00         \$60,200.00         \$86.00         \$73,960.00         \$36.00         \$30,960.00           18         Trench/Excav. Safety - Item 509         1500         LF         \$1.40         \$2,100.00         \$1.50         \$2,250.00         \$4.50         \$66,750.00         \$1.00         \$1,500.00           19         Non-native Seeding - Item 604         32835         SY         \$4.00         \$13,1340.00         \$1.50         \$49,252.50         \$3.50         \$114,922.50         \$2.00         \$66,670.00           20         Dry Stack Rock Wall - Item 623         500         SF         \$45.00         \$22,500.00         \$40.00         \$20,000.00         \$23.00         \$11,500.00         \$30.00         \$15,000.00           21         Low Strength Material - Item 402         70         CY         \$200.00         \$14,000.00         \$13,650.00         \$110,000         \$12,600.00         \$140.00         \$99.800.00           22         Concrete Riprap - Item 591         665         SY         \$45.00         \$29,925.00         \$110.00         \$73,150.00         \$100.00         \$66,500.00         \$99.850.00           23         Construction Entrance - Item 641         <	15	Wood Fence - Item 701	260	LF	\$41.30	\$10,738.00	\$35.00	\$9,100.00	\$29.00	\$7,540.00	\$30.00	\$7,800.00
18         Trench/Excav. Safety - Item 509         1500         LF         \$1.40         \$2,100.00         \$1.50         \$2,250.00         \$4.50         \$6,750.00         \$1.00         \$1,500.00           19         Non-native Seeding - Item 604         32835         SY         \$4.00         \$131,340.00         \$1.50         \$49,252.50         \$3.50         \$114,922.50         \$2.00         \$65,670.00           20         Dry Stack Rock Wall - Item 623         500         SF         \$45.00         \$22,500.00         \$40.00         \$20,000.00         \$23.00         \$11,500.00         \$30.00         \$15,000.00           21         Low Strength Material - Item 402         70         CY         \$200.00         \$14,000.00         \$195.00         \$13,650.00         \$11,600.00         \$140.00         \$90.00         \$23.00         \$11,500.00         \$140.00         \$90.00         \$23.00         \$11,000.00         \$12,600.00         \$10.00         \$12,600.00         \$10.00         \$90.00         \$12,600.00         \$10.00         \$12,600.00         \$10.00         \$12,600.00         \$10.00         \$12,600.00         \$10.00         \$12,600.00         \$10.00         \$12,600.00         \$10.00         \$12,600.00         \$10.00         \$12,000.00         \$10.00         \$12,000.00         \$10.	16	Vehicular Gate - Item 701	2	EA	\$1,330.00	\$2,660.00	\$1,300.00	\$2,600.00	\$2,200.00	\$4,400.00	\$1,000.00	\$2,000.00
Non-native Seeding - Item 604   32835   SY   \$4.00   \$131,340.00   \$1.50   \$49,252.50   \$3.50   \$114,922.50   \$2.00   \$65,670.00	17	Dry Riprap - Item 591	860	SY	\$50.00	\$43,000.00	\$70.00	\$60,200.00	\$86.00	\$73,960.00	\$36.00	\$30,960.00
20         Dry Stack Rock Wall - Item 623         500         SF         \$45.00         \$22,500.00         \$40.00         \$20,000.00         \$23.00         \$11,500.00         \$30.00         \$15,000.00           21         Low Strength Material - Item 402         70         CY         \$200.00         \$14,000.00         \$195.00         \$13,650.00         \$180.00         \$12,600.00         \$140.00         \$9,800.00           22         Concrete Riprap - Item 591         665         SY         \$45.00         \$29,925.00         \$110.00         \$73,150.00         \$100.00         \$66,500.00         \$90.00         \$59,850.00           23         Construction Entrance - Item 641         2         EA         \$1,600.00         \$3,200.00         \$1,100.00         \$2,200.00         \$1,700.00         \$3,400.00         \$2,000.00         \$4,000.00           24         Rock Berm - Item 639         100         LF         \$35.00         \$3,500.00         \$45.00         \$4,500.00         \$2,600.00         \$2,600.00         \$45.00         \$45.00         \$2,600.00         \$2,600.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00         \$45.00	18	Trench/Excav. Safety - Item 509	1500	LF	\$1.40	\$2,100.00	\$1.50	\$2,250.00	\$4.50	\$6,750.00	\$1.00	\$1,500.00
21         Low Strength Material - Item 402         70         CY         \$200.00         \$14,000.00         \$195.00         \$13,650.00         \$180.00         \$12,600.00         \$140.00         \$9,800.00           22         Concrete Riprap - Item 591         665         SY         \$45.00         \$29,925.00         \$110.00         \$73,150.00         \$100.00         \$66,500.00         \$90.00         \$59,850.00           23         Construction Entrance - Item 641         2         EA         \$1,600.00         \$3,200.00         \$1,100.00         \$2,200.00         \$1,700.00         \$2,000.00         \$400.00           24         Rock Berm - Item 639         100         LF         \$35.00         \$3,500.00         \$45.00         \$4,500.00         \$2,600.00         \$45.00         \$4,000.00           25         Silt Fence - Item 642         120         LF         \$2.50         \$300.00         \$3.00         \$360.00         \$4.50         \$540.00         \$3.00         \$360.00           26         Erosion Control Log - RR EC-17         1350         LF         \$12.25         \$16,537.50         \$7.00         \$9,450.00         \$17.00         \$22,950.00         \$10.00         \$13,500.00           27         Guard Rail Mow Strip - TxDot         14         CY </td <td>19</td> <td>Non-native Seeding - Item 604</td> <td>32835</td> <td>SY</td> <td>\$4.00</td> <td>\$131,340.00</td> <td>\$1.50</td> <td>\$49,252.50</td> <td>\$3.50</td> <td>\$114,922.50</td> <td>\$2.00</td> <td>\$65,670.00</td>	19	Non-native Seeding - Item 604	32835	SY	\$4.00	\$131,340.00	\$1.50	\$49,252.50	\$3.50	\$114,922.50	\$2.00	\$65,670.00
22         Concrete Riprap - Item 591         665         SY         \$45.00         \$29,925.00         \$110.00         \$73,150.00         \$100.00         \$66,500.00         \$90.00         \$59,850.00           23         Construction Entrance - Item 641         2         EA         \$1,600.00         \$3,200.00         \$1,100.00         \$2,200.00         \$1,700.00         \$3,400.00         \$2,000.00         \$4,000.00           24         Rock Berm - Item 639         100         LF         \$35.00         \$3,500.00         \$45.00         \$4,500.00         \$2,600.00         \$45.00         \$4,500.00           25         Silt Fence - Item 642         120         LF         \$2.50         \$300.00         \$3.00         \$360.00         \$4.50         \$540.00         \$3.00         \$360.00           26         Erosion Control Log - RR EC-17         1350         LF         \$12.25         \$16,537.50         \$7.00         \$9,450.00         \$17.00         \$22,950.00         \$10.00         \$13,500.00           27         Guard Rail Mow Strip - TxDot         14         CY         \$750.00         \$10,500.00         \$625.00         \$8,750.00         \$1,200.00         \$16,800.00         \$600.00         \$8,400.00           28         Guard Rail Find Trimt TxDot	20	Dry Stack Rock Wall - Item 623	500	SF	\$45.00	\$22,500.00	\$40.00	\$20,000.00	\$23.00	\$11,500.00	\$30.00	\$15,000.00
23         Construction Entrance - Item 641         2         EA         \$1,600.00         \$3,200.00         \$1,100.00         \$2,200.00         \$1,700.00         \$3,400.00         \$2,000.00         \$4,000.00           24         Rock Berm - Item 639         100         LF         \$35.00         \$3,500.00         \$45.00         \$2,600.00         \$2,600.00         \$45.00	21	Low Strength Material - Item 402	70	CY	\$200.00	\$14,000.00	\$195.00	\$13,650.00	\$180.00	\$12,600.00	\$140.00	\$9,800.00
24         Rock Berm - Item 639         100         LF         \$35.00         \$3,500.00         \$45.00         \$4,500.00         \$2,600.00         \$45.00         \$4,500.00           25         Silt Fence - Item 642         120         LF         \$2.50         \$300.00         \$3.00         \$360.00         \$4.50         \$540.00         \$3.00         \$360.00           26         Erosion Control Log - RR EC-17         1350         LF         \$12.25         \$16,537.50         \$7.00         \$9,450.00         \$17.00         \$22,950.00         \$10.00         \$13,500.00           27         Guard Rail Mow Strip - TxDot         14         CY         \$750.00         \$10,500.00         \$625.00         \$8,750.00         \$1,200.00         \$16,800.00         \$600.00         \$8,400.00           28         Guard Railing - Item 704         171         LF         \$35.00         \$5,985.00         \$32.00         \$5,472.00         \$36.00         \$6,156.00         \$29.00         \$4,959.00           29         Guard Rail End Trtmt TxDot         1         EA         \$3,500.00         \$3,500.00         \$3,300.00         \$2,600.00         \$2,600.00         \$3,000.00           30         Guard Rail Anchor/Rad TxDot         1         EA         \$2,000.00	22	Concrete Riprap - Item 591	665	SY	\$45.00	\$29,925.00	\$110.00	\$73,150.00	\$100.00	\$66,500.00	\$90.00	\$59,850.00
25         Silt Fence - Item 642         120         LF         \$2.50         \$300.00         \$3.00         \$360.00         \$4.50         \$540.00         \$3.00         \$360.00           26         Erosion Control Log - RR EC-17         1350         LF         \$12.25         \$16,537.50         \$7.00         \$9,450.00         \$17.00         \$22,950.00         \$10.00         \$13,500.00           27         Guard Rail Mow Strip - TxDot         14         CY         \$750.00         \$10,500.00         \$625.00         \$8,750.00         \$1,200.00         \$16,800.00         \$600.00         \$8,400.00           28         Guard Railing - Item 704         171         LF         \$35.00         \$5,985.00         \$32.00         \$5,472.00         \$36.00         \$6,156.00         \$29.00         \$4,959.00           29         Guard Rail End Trtmt TxDot         1         EA         \$3,500.00         \$3,300.00         \$3,300.00         \$2,600.00         \$2,600.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00         \$3,000.00	23	Construction Entrance - Item 641	2	EA	\$1,600.00	\$3,200.00	\$1,100.00	\$2,200.00	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00
26         Erosion Control Log - RR EC-17         1350         LF         \$12.25         \$16,537.50         \$7.00         \$9,450.00         \$17.00         \$22,950.00         \$10.00         \$13,500.00           27         Guard Rail Mow Strip - TxDot         14         CY         \$750.00         \$10,500.00         \$625.00         \$8,750.00         \$1,200.00         \$16,800.00         \$600.00         \$8,400.00           28         Guard Railing - Item 704         171         LF         \$35.00         \$5,985.00         \$32.00         \$5,472.00         \$36.00         \$61,56.00         \$29.00         \$4,959.00           29         Guard Rail End Trtmt TxDot         1         EA         \$3,500.00         \$3,300.00         \$3,300.00         \$2,600.00         \$2,600.00         \$3,000.00           30         Guard Rail Anchor/Rad TxDot         1         EA         \$2,000.00         \$2,000.00         \$2,000.00         \$2,900.00         \$2,900.00         \$1,700.00           31         Traffic Control - Item 803         1         LS         \$12,500.00         \$8,000.00         \$8,000.00         \$60,000.00         \$76,000.00         \$28,600.00         \$28,600.00           32         Mobilization not to exceed 5%         1         LS         \$60,000.00	24	Rock Berm - Item 639	100	LF	\$35.00	\$3,500.00	\$45.00	\$4,500.00	\$26.00	\$2,600.00	\$45.00	\$4,500.00
27         Guard Rail Mow Strip - TxDot         14         CY         \$750.00         \$10,500.00         \$625.00         \$8,750.00         \$1,200.00         \$16,800.00         \$600.00         \$8,400.00           28         Guard Railing - Item 704         171         LF         \$35.00         \$5,985.00         \$32.00         \$5,472.00         \$36.00         \$6,156.00         \$29.00         \$4,959.00           29         Guard Rail End Trtmt TxDot         1         EA         \$3,500.00         \$3,300.00         \$3,300.00         \$2,600.00         \$2,600.00         \$3,000.00           30         Guard Rail Anchor/Rad TxDot         1         EA         \$2,000.00         \$2,000.00         \$2,000.00         \$2,900.00         \$2,900.00         \$1,700.00           31         Traffic Control - Item 803         1         LS         \$12,500.00         \$8,000.00         \$8,000.00         \$60,000.00         \$14,000.00           32         Mobilization not to exceed 5%         1         LS         \$60,000.00         \$88,000.00         \$8,000.00         \$76,000.00         \$28,600.00         \$28,600.00	25	Silt Fence - Item 642	120	LF	\$2.50	\$300.00	\$3.00	\$360.00	\$4.50	\$540.00	\$3.00	\$360.00
28         Guard Railing - Item 704         171         LF         \$35.00         \$5,985.00         \$32.00         \$5,472.00         \$36.00         \$6,156.00         \$29.00         \$4,959.00           29         Guard Rail End Trtmt TxDot         1         EA         \$3,500.00         \$3,300.00         \$3,300.00         \$2,600.00         \$2,600.00         \$3,000.00         \$3,000.00           30         Guard Rail Anchor/Rad TxDot         1         EA         \$2,000.00         \$2,000.00         \$2,000.00         \$2,900.00         \$2,900.00         \$1,700.00         \$1,700.00           31         Traffic Control - Item 803         1         LS         \$12,500.00         \$8,000.00         \$8,000.00         \$60,000.00         \$60,000.00         \$14,000.00           32         Mobilization not to exceed 5%         1         LS         \$60,000.00         \$88,000.00         \$88,000.00         \$76,000.00         \$28,600.00         \$28,600.00	26	Erosion Control Log - RR EC-17	1350	LF	\$12.25	\$16,537.50	\$7.00	\$9,450.00	\$17.00	\$22,950.00	\$10.00	\$13,500.00
29         Guard Rail End Trtmt TxDot         1         EA         \$3,500.00         \$3,300.00         \$3,300.00         \$2,600.00         \$2,600.00         \$3,000.00         \$3,000.00           30         Guard Rail Anchor/Rad TxDot         1         EA         \$2,000.00         \$2,000.00         \$2,000.00         \$2,900.00         \$2,900.00         \$1,700.00         \$1,700.00           31         Traffic Control - Item 803         1         LS         \$12,500.00         \$8,000.00         \$8,000.00         \$60,000.00         \$60,000.00         \$14,000.00           32         Mobilization not to exceed 5%         1         LS         \$60,000.00         \$88,000.00         \$88,000.00         \$76,000.00         \$28,600.00         \$28,600.00	27	Guard Rail Mow Strip - TxDot	14	CY	\$750.00	\$10,500.00	\$625.00	\$8,750.00	\$1,200.00	\$16,800.00	\$600.00	\$8,400.00
30         Guard Rail Anchor/Rad TxDot         1         EA         \$2,000.00         \$2,000.00         \$2,000.00         \$2,900.00         \$2,900.00         \$1,700.00         \$1,700.00           31         Traffic Control - Item 803         1         LS         \$12,500.00         \$8,000.00         \$8,000.00         \$60,000.00         \$60,000.00         \$14,000.00           32         Mobilization not to exceed 5%         1         LS         \$60,000.00         \$88,000.00         \$88,000.00         \$76,000.00         \$28,600.00         \$28,600.00	28	Guard Railing - Item 704	171	LF	\$35.00	\$5,985.00	\$32.00	\$5,472.00	\$36.00	\$6,156.00	\$29.00	\$4,959.00
31         Traffic Control - Item 803         1         LS         \$12,500.00         \$8,000.00         \$8,000.00         \$60,000.00         \$14,000.00         \$14,000.00           32         Mobilization not to exceed 5%         1         LS         \$60,000.00         \$88,000.00         \$88,000.00         \$76,000.00         \$28,600.00         \$28,600.00	29	Guard Rail End Trtmt TxDot	1	EA	\$3,500.00	\$3,500.00	\$3,300.00	\$3,300.00	\$2,600.00	\$2,600.00	\$3,000.00	\$3,000.00
32 Mobilization not to exceed 5% 1 LS \$60,000.00 \$60,000.00 \$88,000.00 \$76,000.00 \$76,000.00 \$28,600.00 \$28,600.00	30	Guard Rail Anchor/Rad TxDot	1	EA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,900.00	\$2,900.00	\$1,700.00	\$1,700.00
	31		1	LS	\$12,500.00	\$12,500.00	\$8,000.00	\$8,000.00	\$60,000.00	\$60,000.00	\$14,000.00	\$14,000.00
TOTAL BASE BID: \$1,649,322.50 \$1,774,344.50 \$1,797,973.50 \$1,810,626.00	32	Mobilization not to exceed 5%	1	LS	\$60,000.00	\$60,000.00	\$88,000.00	\$88,000.00	\$76,000.00	\$76,000.00	\$28,600.00	\$28,600.00
		TOTAL BASE BID:				\$1,649,322.50		\$1,774,344.50		\$1,797,973.50		\$1,810,626.00

					BID	TABULA	TION (Shee	et 3 of 7) l	DETAILS CO	ONT.	
CONTRA	.CT : Oak Bluff & Greenfield Drainage	Improvements	S	Patin Const	ruction, LLC	Austin Engin	eering Co., Inc.	Austin Un	derground, Inc.	Cash Const	ruction Co., Inc.
							ALTERNAT	TE BID NO	).1		
		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
A-1	72" Aluminized Pipe - Item 510	985	LF	\$330.00	\$325,050.00	• \$400.00	\$394,000.00	\$230.00	\$226,550.00	\$596.00	\$587,060.00
TOTAL	ALTERNATE BID NO.1			///////////////////////////////////////		71111111111					
(A-1 plus	all Base Bid Items except 6 & 7):				\$1,295,622.50		\$1,593,644.50		\$1,485,893.50		\$1,522,679.00
						$\mathbf{A}$	DD ALTERN	ATE BID	NO. 1		
AA-1	Conc. Box 7' x 4' - Item 559	556	LF	\$800.00	\$444,800.00	\$210.00	\$116,760.00	\$650.00	\$361,400.00	\$650.00	\$361,400.00
AA-2	Wingwall FW-0 - Item 414	12	CY	\$5,000.00	\$60,000.00	\$2,350.00	\$28,200.00	\$3,500.00	\$42,000.00	\$2,000.00	\$24,000.00
AA-3	Class III RCP, 24" Dia Item 510	24	LF	\$100.00	\$2,400.00	\$190.00	\$4,560.00	\$110.00	\$2,640.00	\$125.00	\$3,000.00
AA-4	Class III RCP 36" Dia Item 510	506	LF	\$130.00	\$65,780.00	\$200.00	\$101,200.00	\$130.00	\$65,780.00	\$140.00	\$70,840.00
AA-5	4' x 4' Area Inlet - Item 508	5	EA	\$7,000.00	\$35,000.00	\$9,000.00	\$45,000.00	\$5,200.00	\$26,000.00	\$3,500.00	\$17,500.00
AA-6	Adjust 6" Force Main - Item 510	1	LS	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$4,100.00	\$4,100.00	\$15,000.00	\$15,000.00
AA-7	Trench/Excav.Safety - Item 509	1150	LF	\$1.40	\$1,610.00	\$2.50	\$2,875.00	\$4.00	\$4,600.00	\$1.00	\$1,150.00
AA-8	Concrete Riprap - Item 591	125	SY	\$45.00	\$5,625.00	\$110.00	\$13,750.00	\$100.00	\$12,500.00	\$90.00	\$11,250.00
AA-9	Non-native Seeding - Item 604	2400	SY	\$6.00	\$14,400.00	\$2.00	\$4,800.00	\$9.50	\$22,800.00	\$2.00	\$4,800.00
AA-10	Construction Entrance - Item 641	1	EA	\$1,600.00	\$1,600.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00
AA-11	Erosion Control Log - RR EC-17	120	LF	\$12.25	\$1,470.00	\$8.00	\$960.00	\$16.00	\$1,920.00	\$10.00	\$1,200.00
AA-12	Silt Fence - Item 642	250	LF	\$2.50	\$625.00	\$3.00	\$750.00	\$4.00	\$1,000.00	\$3.00	\$750.00
AA-13	Chain Link Fence - Item 701	415	LF	\$31.00	\$12,865.00	\$30.00	\$12,450.00	\$26.00	\$10,790.00	\$24.00	\$9,960.00
AA-14	Chain Link Fence Gate - Item 701	2	EA	\$500.00	\$1,000.00	\$600.00	\$1,200.00	\$650.00	\$1,300.00	\$400.00	\$800.00
AA-15	Traffic Control - Item 803	1	LS	\$3,400.00	\$3,400.00	\$4,000.00	\$4,000.00	\$18,000.00	\$18,000.00	\$3,800.00	\$3,800.00
AA-16	Flex Base 4" Thickness - Item 210	300	SY	\$10.00	\$3,000.00	\$75.00	\$22,500.00	\$12.00	\$3,600.00	\$14.00	\$4,200.00
AA-17	Flex Base 8" Thickness - Item 210	56	CY	\$60.00	\$3,360.00	\$80.00	\$4,480.00	\$49.00	\$2,744.00	\$150.00	\$8,400.00
AA-18	Hot Mix Asphaltic Conc - Item 340	530	SY	\$32.50	\$17,225.00	\$30.00	\$15,900.00	\$19.00	\$10,070.00	\$26.00	\$13,780.00
AA-19	Mobilization not to exceed 5%	1	LS	\$22,000.00	\$22,000.00	\$22,136.05	\$22,136.05	\$30,000.00	\$30,000.00	\$8,000.00	\$8,000.00
Т	OTAL ADD ALTERNATE BID NO	D.1:			\$746,160.00		\$442,721,05		\$622,744.00		\$561,830.00
	TOTAL BASE BID				\$1,649,322.50		\$1,774,344.50		\$1,797,973.50		\$1,810,626.00
	TOTAL ALTERNATE BID NO.1:				\$1,295,622.50	;	/\$1,593,644,50 <i>/</i>		\$1,485,893.50		\$1,522,679.00
TOTAL BASE BID PLUS ADD ALT. NO.1:					\$2,395,482.50		\$2,217,065.55		\$2,420,717.50		\$2,372,456.00
TOTA	L ALT. BID NO. 1 PLUS ADD AL	Г. NO.1:			\$2,041,782.50		\$2,036,365.55		\$2,108,637.50		\$2,084,509.00

NOTES: Cross -hatching of a unit price indicates revision to the unit price entered by the Bidder on the Bid Form due to price limitation specified on the Bid Form.

Cross-hatching of a total amount indicates an amount calculated upon tabulation that differed from the total amount entered by the Bidder on the Bid Form.

**Utilities & Environmental Services** 

BIDS EXTENDED AND CHECKED

BY: JLR/DLH .S. H.

3400 Sunrise Road

Round Rock, Texas 78665

## **BID TABULATION (Sheet 4 of 7) DETAILS CONT.**

DATE: 10/23/2019

CONTRACT: Oak Bluff & Greenfield Drainage Improvements	Santa Clara Construction	DeNucci Construction, LLC	Liberty Civil Construction	Aaron Concrete, LP
LOCATION: 3400 Sunrise Road	Addendum? Yes	Addendum? Yes	Addendum? Yes	Addendum? Yes
DATE: 10/22/2019	Bid Bond? Yes	Bid Bond? Yes	Bid Bond? Yes	Bid Bond? Yes
	Exhibit B? Yes	Exhibit B? Yes	Exhibit B? Yes	Exhibit B? Yes
	Stmt. of Safety Exp.? Yes	Stmt. of Safety Exp.? Yes	Stmt. of Safety Exp.? Yes	Stmt. of Safety Exp.? Yes

D		C	1	D	ID
ĸ	. 🕰		. н.	HS.	

ITEM#	ITEM DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST
11 E.W. #	Structural Excavation - Item 401	900	CY	\$40.00	\$36,000.00	\$85.00	\$76,500.00	\$60.00	\$54,000.00	\$100.00	\$90,000.00
2	Box Culverts - Item 559	91	CY	\$1,546.00	\$140,686.00	\$1,200.00	\$109,200.00	\$1,350.00	\$122,850.00	\$2,000.00	\$182,000.00
3	Wingwall PW-1 MOD - Item 414	14.5	CY	\$550.00	\$7,975.00	\$1,200.00	\$109,200.00	\$1,330.00	\$17,835.00	\$1,500.00	\$21,750.00
4	Wingwall PW-1 - Item 414	33.8	CY	\$550.00	\$18,590.00	\$1,200.00	\$40,560.00	\$1,230.00	\$38,870.00	\$1,500.00	\$50,700.00
5	Channel Excavation - Item 120	10025	CY								
6				\$20.00	\$200,500.00	\$35.00	\$350,875.00	\$60.00	\$601,500.00	\$80.00	\$802,000.00
	Class IV RCP, 72" Dia Item 510	548	LF	\$1,139.00	\$624,172.00	\$670.00	\$367,160.00	\$700.00	\$383,600.00	\$520.00	\$284,960.00
7	Class III RCP, 72" Dia Item 510	437	LF	\$949.00	\$414,713.00	\$550.00	\$240,350.00	\$550.00	\$240,350.00	\$700.00	\$305,900.00
8	Junction Box - Item 506	2	EA	\$65,000.00	\$130,000.00	\$65,000.00	\$130,000.00	\$95,800.00	\$191,600.00	\$90,000.00	\$180,000.00
9	72" Aluminized Pipe - Item 510	122	LF	\$775.00	\$94,550.00	\$445.00	\$54,290.00	\$450.00	\$54,900.00	\$325.00	\$39,650.00
10	Flex Base 30" Thickness - Item 210	60	CY	\$78.00	\$4,680.00	\$165.00	\$9,900.00	\$51.00	\$3,060.00	\$200.00	\$12,000.00
11	Hot Mix Asphaltic Conc - Item 340	70	SY	\$30.00	\$2,100.00	\$85.00	\$5,950.00	\$135.00	\$9,450.00	\$200.00	\$14,000.00
12	Safety Fencing - Item 703	2300	LF	\$1.00	\$2,300.00	\$4.00	\$9,200.00	\$2.00	\$4,600.00	\$3.00	\$6,900.00
13	Protective Fencing - Item 610	180	LF	\$3.00	\$540.00	\$6.00	\$1,080.00	\$3.50	\$630.00	\$10.00	\$1,800.00
14	Wire Fence - Item 701	1400	LF	\$8.00	\$11,200.00	\$35.00	\$49,000.00	\$7.30	\$10,220.00	\$10.00	\$14,000.00
15	Wood Fence - Item 701	260	LF	\$17.00	\$4,420.00	\$45.00	\$11,700.00	\$36.00	\$9,360.00	\$50.00	\$13,000.00
16	Vehicular Gate - Item 701	2	EA	\$2,750.00	\$5,500.00	\$2,500.00	\$5,000.00	\$1,150.00	\$2,300.00	\$3,000.00	\$6,000.00
17	Dry Riprap - Item 591	860	SY	\$50.00	\$43,000.00	\$65.00	\$55,900.00	\$65.00	\$55,900.00	\$75.00	\$64,500.00
18	Trench/Excav. Safety - Item 509	1500	LF	\$1.00	\$1,500.00	\$28.00	\$42,000.00	\$6.00	\$9,000.00	\$30.00	\$45,000.00
19	Non-native Seeding - Item 604	32835	SY	\$0.50	\$16,417.50	\$4.00	\$131,340.00	\$3.70	\$121,489.50	\$1.00	\$32,835.00
20	Dry Stack Rock Wall - Item 623	500	SF	\$5.00	\$2,500.00	\$45.00	\$22,500.00	\$30.00	\$15,000.00	\$45.00	\$22,500.00
21	Low Strength Material - Item 402	70	CY	\$120.00	\$8,400.00	\$205.00	\$14,350.00	\$375.00	\$26,250.00	\$225.00	\$15,750.00
22	Concrete Riprap - Item 591	665	SY	\$58.00	\$38,570.00	\$86.00	\$57,190.00	\$130.00	\$86,450.00	\$100.00	\$66,500.00
23	Construction Entrance - Item 641	2	EA	\$2,000.00	\$4,000.00	\$1,200.00	\$2,400.00	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00
24	Rock Berm - Item 639	100	LF	\$25.00	\$2,500.00	\$45.00	\$4,500.00	\$25.00	\$2,500.00	\$70.00	\$7,000.00
25	Silt Fence - Item 642	120	LF	\$3.00	\$360.00	\$6.00	\$720.00	\$4.00	\$480.00	\$5.00	\$600.00
26	Erosion Control Log - RR EC-17	1350	LF	\$7.00	\$9,450.00	\$15.00	\$20,250.00	\$20.00	\$27,000.00	\$6.00	\$8,100.00
27	Guard Rail Mow Strip - TxDot	14	CY	\$265.00	\$3,710.00	\$800.00	\$11,200.00	\$890.00	\$12,460.00	\$600.00	\$8,400.00
28	Guard Railing - Item 704	171	LF	\$35.00	\$5,985.00	\$145.00	\$24,795.00	\$35.00	\$5,985.00	\$30.00	\$5,130.00
29	Guard Rail End Trtmt TxDot	1	EA	\$4,500.00	\$4,500.00	\$3,500.00	\$3,500.00	\$3,900.00	\$3,900.00	\$3,200.00	\$3,200.00
30	Guard Rail Anchor/Rad TxDot	1	EA	\$2,000.00	\$2,000.00	\$8,500.00	\$8,500.00	\$2,150.00	\$2,150.00	\$2,000.00	\$2,000.00
31	Traffic Control - Item 803	1	LS	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$13,900.00	\$13,900.00	\$16,000.00	\$16,000.00
32	Mobilization not to exceed 5%	1	LS	\$97,000.00	\$97,000.00	\$90,000.00	\$90,000.00	\$100,000.00	\$100,000.00	\$92,600.00	\$92,600.00
	TOTAL BASE BID:			<u> </u>	\$1,942,818.50		\$1,992,310.00	-	\$2,230,589.50		\$2,420,775.00
					. ,,		. ,,		,,		,,

	The state of the s	]	BID TA	ABULATIO	ON (Sheet 5	of 7) DET	AILS CON	NT.			
CONTRA	ACT : Oak Bluff & Greenfield Drainag	ge Improvem	ents	Santa Clara	Construction	DeNucci Cons	struction, LLC	Liberty Civi	l Construction	Arron C	oncrete, LP
						A	LTERNATE	BID NO.	1		
ITEM#	ITEM DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST
A-1	72" Aluminized Pipe - Item 510	985	LF	\$811.00	\$798,835.00	\$470.00	\$462,950.00	\$540.00	\$531,900.00	\$345.00	\$339,825.00
TOTAL A	ALTERNATE BID NO.1	·									
(A-1 plus	all Base Bid Items except 6 & 7):				\$1,702,768.50		\$1,847,750.00		\$2,138,539.50		\$2,169,740.00
						ADD	ALTERNA	TE BID N	0. 1		
AA-1	Conc. Box 7' x 4' - Item 559	556	LF	\$755.00	\$419,780.00	\$625.00	\$347,500.00	\$685.00	\$380,860.00	\$688.00	\$382,528.00
AA-2	Wingwall FW-0 - Item 414	12	CY	\$550.00	\$6,600.00	\$1,200.00	\$14,400.00	\$2,420.00	\$29,040.00	\$2,000.00	\$24,000.00
AA-3	Class III RCP, 24" Dia Item 510	24	LF	\$258.00	\$6,192.00	\$105.00	\$2,520.00	\$120.00	\$2,880.00	\$210.00	\$5,040.00
AA-4	Class III RCP 36" Dia Item 510	506	LF	\$300.00	\$151,800.00	\$85.00	\$43,010.00	\$170.00	\$86,020.00	<u>\$210.00</u>	\$106,260.00
AA-5	4' x 4' Area Inlet - Item 508	5	EA	\$4,000.00	\$20,000.00	\$7,500.00	\$37,500.00	\$4,900.00	\$24,500.00	\$4,500.00	\$22,500.00
AA-6	Adjust 6" Force Main - Item 510	1	LS	\$15,000.00	\$15,000.00	\$28,000.00	\$28,000.00	\$31,000.00	\$31,000.00	\$9,000.00	\$9,000.00
AA-7	Trench/Excav. Safety - Item 509	1150	LF	\$1.00	\$1,150.00	\$6.00	\$6,900.00	\$6.00	\$6,900.00	\$20.00	\$23,000.00
AA-8	Concrete Riprap - Item 591	125	SY	\$58.00	\$7,250.00	\$225.00	\$28,125.00	\$130.00	\$16,250.00	\$120.00	\$15,000.00
AA-9	Non-native Seeding - Item 604	2400	SY	\$0.50	\$1,200.00	\$4.00	\$9,600.00	\$3.70	\$8,880.00	\$1.00	\$2,400.00
AA-10	Construction Entrance - Item 641	1	EA	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
AA-11	Erosion Control Log - RR EC-17	120	LF	\$7.00	\$840.00	\$12.00	\$1,440.00	\$20.00	\$2,400.00	\$6.00	\$720.00
AA-12	Silt Fence - Item 642	250	LF	\$3.00	\$750.00	\$3.00	\$750.00	\$4.00	\$1,000.00	\$5.00	\$1,250.00
AA-13	Chain Link Fence - Item 701	415	LF	\$8.00	\$3,320.00	\$45.00	\$18,675.00	\$27.00	\$11,205.00	\$38.00	\$15,770.00
AA-14	Chain Link Fence Gate - Item 701	2	EA	\$1,200.00	\$2,400.00	\$900.00	\$1,800.00	\$450.00	\$900.00	\$2,500.00	\$5,000.00
AA-15	Traffic Control - Item 803	1	LS	\$5,000.00	\$5,000.00	\$7,600.00	\$7,600.00	\$9,200.00	\$9,200.00	\$16,000.00	\$16,000.00
AA-16	Flex Base 4" Thickness - Item 210	300	SY	\$12.00	\$3,600.00	\$32.00	\$9,600.00	\$15.00	\$4,500.00	\$50.00	\$15,000.00
AA-17	Flex Base 8" Thickness - Item 210	56	CY	\$78.00	\$4,368.00	\$38.00	\$2,128.00	\$59.00	\$3,304.00	\$215.00	\$12,040.00
AA-18	Hot Mix Asphaltic Conc - Item 340	530	SY	\$26.00	\$13,780.00	\$65.00	\$34,450.00	\$35.00	\$18,550.00	\$78.00	\$41,340.00
AA-19	Mobilization not to exceed 5%	1	LS	\$34,000.00	\$34,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00
	TOTAL ADD ALTERNATE BID	NO.1:			\$699,030.00		\$619,998.00		\$669,389.00	111	\$724,848.00
	TOTAL BASE BID		:		\$1,942,818.50		\$1,992,310.00		\$2,230,589.50		\$2,420,775.00
	TOTAL ALTERNATE BID NO.1:				\$1,702,768.50		\$1,847,750.00		\$2,138,539.50	1/2	\$2,169,740.00
TO	OTAL BASE BID PLUS ADD ALT. N	0.1:			\$2,641,848.50		\$2,612,308.00		\$2,899,978.50		\$3,145,623.00
T	OTAL ALT. BID PLUS ADD ALT. NO	).1:			\$2,401,798.50		\$2,467,748.00		\$2,807,928.50		\$2,894,588.00
	G 1 . 11 C 1. 1 1 1										

NOTES: Cross-hatching of a unit price indicates a significant difference between the numerical unit price and the written unit price entered by the Bidder on the Bid Form; it was apparent that the numerical unit price was intended.

An underlined unit price indicates a slight difference between the numerical unit price and the written unit price entered by the Bidder on the Bid Form; the written unit price controls per the Bid Documents.

Cross-hatching of a total amount indicates an amount calculated upon tabulation that differed from the total amount entered by the Bidder on the Bid Form.

**Utilities & Environmental Services** 

BIDS EXTENDED AND CHECKED

3400 Sunrise Road

Round Rock, Texas 78665

## **BID TABULATION (Sheet 6 of 7) DETAILS CONT.**

BY: JLR/DLH
DATE: 10/23/2019

CONTRACT: Oak Bluff & Greenfield Drainage Improvements	Smith Contracting Co.			
LOCATION: 3400 Sunrise Road	Addendum(s)? Yes	Addendum(s)?	Addendum(s)?	Addendum(s)?
DATE: 10/22/2019	Bid Bond? Yes	Bid Bond?	Bid Bond?	Bid Bond?
	Exhibit B? Yes	Exhibit B?	Exhibit B?	Exhibit B?
	Stmt. of Safety Exp.? Yes	Stmt. of Safety Exp.?	Stmt. of Safety Exp.?	Stmt. of Safety Exp.?

BASE BID

		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
1	Structural Excavation - Item 401	900	CY	\$45.00	\$40,500.00		\$0.00		\$0.00		\$0.00
2	Box Culverts - Item 559	91	CY	\$900.00	\$81,900.00		\$0.00		.\$0.00		\$0.00
3	Wingwall PW-1 MOD - Item 414	14.5	CY	\$1,600.00	\$23,200.00		\$0.00		\$0.00		\$0.00
4	Wingwall PW-1 - Item 414	33.8	CY	\$1,250.00	\$42,250.00		\$0.00		\$0.00		\$0.00
5	Channel Excavation - Item 120	10025	CY	\$25.00	\$250,625.00		\$0.00		\$0.00		\$0.00
6	Class IV RCP, 72" Dia Item 510	548	LF	\$667.00	\$365,516.00		\$0.00		\$0.00		\$0.00
7	Class III RCP, 72" Dia Item 510	437	LF	\$469.00	\$204,953.00		\$0.00		\$0.00		\$0.00
8	Junction Box - Item 506	2	EA	\$58,500.00	\$117,000.00		\$0.00		\$0.00		\$0.00
9	72" Aluminized Pipe - Item 510	122	LF	\$286.00	\$34,892.00		\$0.00		\$0.00		\$0.00
10	Flex Base 30" Thickness - Item 210	60	CY	\$100.00	\$6,000.00		\$0.00		\$0.00		\$0.00
11	Hot Mix Asphaltic Conc - Item 340	70	SY	\$125.00	\$8,750.00		\$0.00		\$0.00		\$0.00
12	Safety Fencing - Item 703	2300	LF	\$2.50	\$5,750.00		\$0.00		\$0.00		\$0.00
13	Protective Fencing - Item 610	180	LF	\$5.00	\$900.00		\$0.00		\$0.00		\$0.00
14	Wire Fence - Item 701	1400	LF	\$11.50	\$16,100.00		\$0.00		\$0.00		\$0.00
15	Wood Fence - Item 701	260	LF	\$35.00	\$9,100.00		\$0.00		\$0.00		\$0.00
16	Vehicular Gate - Item 701	2	EΑ	\$1,100.00	\$2,200.00		\$0.00		\$0.00		\$0.00
17	Dry Riprap - Item 591	860	SY	\$42.00	\$36,120.00		\$0.00		\$0.00		\$0.00
18	Trench/Excav. Safety - Item 509	1500	LF	\$1.00	\$1,500.00		\$0.00		\$0.00		\$0.00
19	Non-native Seeding - Item 604	32835	SY	\$1.75	\$57,461.25		\$0.00		\$0.00		\$0.00
20	Dry Stack Rock Wall - Item 623	500	SF	\$40.00	\$20,000.00		\$0.00		\$0.00		\$0.00
21	Low Strength Material - Item 402	70	CY	\$165.00	\$11,550.00		\$0.00		\$0.00		\$0.00
22	Concrete Riprap - Item 591	665	SY	\$67.00	\$44,555.00		\$0.00		\$0.00		\$0.00
23	Construction Entrance - Item 641	2	EA	\$1,900.00	\$3,800.00		\$0.00		\$0.00		\$0.00
24	Rock Berm - Item 639	100	LF	\$25.00	\$2,500.00		\$0.00		\$0.00		\$0.00
25	Silt Fence - Item 642	120	LF	\$3.00	\$360.00		\$0.00		\$0.00		\$0.00
26	Erosion Control Log - RR EC-17	1350	LF	\$10.00	\$13,500.00		\$0.00		\$0.00		\$0.00
27	Guard Rail Mow Strip - TxDot	14	CY	\$510.00	\$7,140.00		\$0.00		\$0.00		\$0.00
28	Guard Railing - Item 704	171	LF	\$32.00	\$5,472.00		\$0.00		\$0.00		\$0.00
29	Guard Rail End Trtmt TxDot	1	EA	\$3,700.00	\$3,700.00		\$0.00		\$0.00		\$0.00
30	Guard Rail Anchor/Rad TxDot	1	EA	\$1,900.00	\$1,900.00		\$0.00		\$0.00		\$0.00
31	Traffic Control - Item 803	1	LS	\$10,000.00	\$10,000.00		\$0.00		\$0.00		\$0.00
32	Mobilization not to exceed 5%	1	LS	\$70,000.00	\$70,000.00		\$0.00		\$0.00		\$0.00
	TOTAL BASE BII	):			\$1,499,194.25		\$0.00		\$0.00		\$0.00

CONTR	ACT : Oak Bluff & Greenfield Drain	age Improv	ements	Smith Con	tracting Co.						
CONTRA	ACT . Oak Bluff & Greenfield Drain	age improve	cincints	Sinci con	Tructing Co.		A V (CIETA NI A)	TE DID NO		Accompany of the pro-	
							<b>ALTERNA</b>		·.1	******	
ITEM #	ITEM DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST
A-1	72" Aluminized Pipe - Item 510	985	LF	\$285.00	\$280,725.00		\$0.00		\$0.00		\$0.0
TOTAL .	ALTERNATE BID NO.1										
A-1 plus	all Base Bid Items except 6 & 7):				\$1,209,450.25		\$0.00		\$0.00		\$0.0
						A	DD ALTERN	IATE BID N	NO. 1		
AA-1	Conc. Box 7' x 4' - Item 559	556	LF	\$600.00	\$333,600.00		\$0.00		\$0.00		\$0.0
AA-2	Wingwall FW-0 - Item 414	12	CY	\$1,500.00	\$18,000.00		\$0.00		\$0.00		\$0.0
AA-3	Class III RCP, 24" Dia Item 510	24	LF	\$80.00	\$1,920.00		\$0.00		\$0.00		\$0.0
AA-4	Class III RCP 36" Dia Item 510	506	LF	\$127.00	\$64,262.00		\$0.00		\$0.00		\$0.0
AA-5	4' x 4' Area Inlet - Item 508	5	EA	\$4,500.00	\$22,500.00		\$0.00		\$0.00		\$0.0
AA-6	Adjust 6" Force Main - Item 510	1	LS	\$25,000.00	\$25,000.00		\$0.00		\$0.00		\$0.0
AA-7	Trench/Excav. Safety - Item 509	1150	LF	\$1.00	\$1,150.00		\$0.00		\$0.00		\$0.0
AA-8	Concrete Riprap - Item 591	125	SY	\$70.00	\$8,750.00		\$0.00		\$0.00		\$0.0
AA-9	Non-native Seeding - Item 604	2400	SY	\$5.00	\$12,000.00		\$0.00		\$0.00		\$0.0
AA-10	Construction Entrance - Item 641	1	EA	\$2,000.00	\$2,000.00		\$0.00		\$0.00		\$0.0
AA-11	Erosion Control Log - RR EC-17	120	LF	\$10.00	\$1,200.00		\$0.00		\$0.00		\$0.0
AA-12	Silt Fence - Item 642	250	LF	\$2.50	\$625.00		\$0.00		\$0.00		\$0.0
AA-13	Chain Link Fence - Item 701	415	LF	\$25.00	\$10,375.00		\$0.00		\$0.00		\$0.0
AA-14	Chain Link Fence Gate - Item 701	2	EA	\$500.00	\$1,000.00		\$0.00		\$0.00		\$0.0
AA-15	Traffic Control - Item 803	1	LS	\$5,000.00	\$5,000.00		\$0.00		\$0.00		\$0.0
AA-16	Flex Base 4" Thickness - Item 210	300	SY	\$20.00	\$6,000.00		\$0.00		\$0.00		\$0.0
AA-17	Flex Base 8" Thickness - Item 210	56	CY	\$150.00	\$8,400.00		\$0.00		\$0.00		\$0.0
AA-18	Hot Mix Asphaltic Conc - Item 340	530	SY	\$26.00	\$13,780.00		\$0.00		\$0.00		\$0.0
AA-19	Mobilization not to exceed 5%	1	LS	\$25,000.00	\$25,000.00		\$0.00		\$0.00		\$0.0
Т	TOTAL ADD ALTERNATE BID NO	).1:			\$560,562.00		\$0.00		\$0.00		\$0.0
					4-00,-00.00		72.00				
	TOTAL BASE BID				\$1,499,194.25		\$0.00		\$0.00		\$0.0
	TOTAL BASE BID				φ1, <del>4</del> 22,12 <b>4.</b> 23		φυ.υυ		φυ.υυ		\$0.0
***************************************	TOTAL ALTERNATE BID NO.1				£1 200 450 25		\$0.00		\$0.00		\$0.0
	IUIAL ALIEKNAIE BID NO.1				\$1,209,450.25		20.00		\$0.00		20.0
<b></b>		10.1			00.000.000		00.00		00.00		00.0
TO	TAL BASE BID PLUS ADD ALT. N	VU.1:			\$2,059,756.25		\$0.00		\$0.00		\$0.0
		- AMARIA	******								
TOTA	L ALT. BID NO. 1 PLUS ADD ALT	. NO. 1:			\$1,770,012.25		\$0.00		\$0.00		\$0.0

NOTE: Cross-hatching of a unit price indicates a significant difference between the numerical unit price and the written unit price entered by the Bidder on the Bid Form; it was apparent that the numerical unit price was intended.